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Unit 1

The assessment objectives will be allocated in the following way.

% of

AS Marks
A02 Response to written language 65 65
A03 Knowledge of grammar 25 25
A04 Knowledge of society 10 10
TOTAL 100 100
The marks will be allocated in the following way.
A02 A03 A04
Section 1 27 10 3
Section 2 15
Section 3 23 15 7




AQA GCE Mark Scheme, 2005 June series — Responsive Writing

Section 1
Question Accept Marks Reject
a) 2N 1
12 1
3 1
19 1
2-N 1
39 1
24 1
2-n 1
2-0 1
1 1
Total 10
Total = 10 marks
Question Accept Marks Reject
b) Ql 2
Q2 2
Q3 2
Q4 2
Q5 3
Q6 3
Q7 2
Q8 2
Q9 2
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The answers to the questions in (b) should be as follows:

DT YTIIY DINNN/DIWINRD/ DN YTIIY ORI NIN T YT Y 1923 My .1

DONOYIN /N POSWN YIND NN INYD 18 DN .2

/NN INNONZ/RINNNT IWON NIV /MNNTND DN MIWR/NPYPIP NN MR PN Y .3
DOONOYIN

JMIYNN 2 72NY DNTRD NN /O»YPIp NN ©MayNa 172y on 4

AODANN ONAY/MODN PN DNIAY/DOWIN N2 DN DNV DOOITI MNDIN N PN IV M0 .5
NPHNOWN YN 2
PYN D INY INIV/DND/N NPOYS MIWN

YIND PN AWAR NN NONY D JIIN NITO DNAWN 51 NIVP PN IPTINOWNN MW .6
or anything to this effect .nnawnn man W NSNN Myny

¥ MIDN/NITION TN NFPN R KOKR,MIWNN IR 1IN TR OTR/WR P ROV 150 yvnTn .7
SN TPON SW/OWIN NN

7% N2 100NN DN ,NXI1D 13592 PYY 2201 NN NNIY BN 71N NON /Y N0/ 2O .8
DONRD IIYR/MNON DN T DY DNNY

DNV 3 NOWN NNNINRN/DMY 3 DN N DTN .9

Total = 20 marks

Total for this unit is 30 + 10 marks for grammar = 40 marks
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Section 2

For the translation, the following criteria will be used.

Marks Response to written language (A02)
0-1 Little or nothing of merit.
2-4 Shows poor understanding of the original and translated in a

language that has a very limited range of vocabulary. Errors in
spelling, punctuation and grammar impede comprehension.

5-7 Shows satisfactory understanding of the original and translated in a
language that has a limited range of vocabulary. Errors in spelling,
punctuation and grammar are intrusive and affect comprehension.

8-11 Shows good understanding of the original and translated in a
language that has a wide range of vocabulary. Accurate, with only
a few minor errors in spelling, punctuation and grammar.

12-15 Very good understanding of the original and translated accurately in
language that has a wide range of vocabulary. Excellent spelling,
punctuation and grammar.

Total for Section 2 = 15 marks
Section 3

Where Knowledge of Grammar (A03) is being assessed the following criteria will be used.

Marks Knowledge of Grammar (A03)

0-2 Shows very limited grasp of grammatical structure. Errors are such
that communication is seriously impaired.

3-5 The level of manipulation of structures and the number of errors
make comprehension difficult.

6-8 There is some awareness of structure. There are still basic errors but
communication is generally maintained.

9-12 The manipulation of basic structures is generally sound. There are
attempts to use more complex structures, but not always
successfully.

13-15

The knowledge and use of most structures is good. There are still
some inaccuracies, but these are usually in attempts at more complex
structures
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Marks Knowledge/Response/Reaction (A02/A04)

0-5 There is little or nothing of relevance. A zero score will
automatically result in zero for the question as a whole.

6-12 A limited number of points made, many of which are vague or
irrelevant. No justification for points made.

13-18 Some relevant points are made, ideas are not clearly organised.
Some reaction is evident, but points made are not always justified
or illustrated. The answer generally lacks a clear focus.

19-24 The answer is generally on the subject with a number of relevant
points, but not always appropriately supported.

25-30 Relevant points are clearly made. The answer is focused on the
question and offers ideas which are logically and clearly
developed. Good personal reaction, usually justified.

Total for Section 3 = 45 marks

Total for Unit 1 =100 marks




